2000 ARS|ZRER] 2400 FEIRAAARSIZREE 2430 A HARSIZNEE 2432 AR 120 A Y] 201 ARG H]
v} =
o AF o s = 7] =
A&k A A3 =
I 2,445,391 |[3 1,790,000 = 43,000 Al 612,391 ]
A7 Lo
%Eo}i%ogﬂl 31,340
31,340 |01 Yur-e-odn]
OLrkEgH] FoAd4t (=1,750)
— QA= 1,750,0009) = 1,750
O7t2¥ Z24x4 F7] dx=7 350,000 * 53] = 1,750
O¥=2k= (=3,000)
—ERHEAZAAAN AR E 300,000¢ = 10t = 3,000
OYrkegu] FoAdA4t (=11,120)
— QA= 11,120,000 = 11,120
OLrkegH] FoA 4k (=3,500)
—7t2W ZAxA F7)dx8 350,000 = 2t} = 53] = 3,500
Otz (=2,000)
— 72 2AxA AR 500,000¢) * 43] = 2,000
Oz (=2,000)
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2000 ARS|ZRER] 2400 FEIRAAARSIZREE 2430 A HARSIZNEE 2432 AR 120 A Y] 201 ARG H]
e =5
o AF o At = 7] *
Alg Al Al & =
—7 2 Z2AxA F7) A8 2,000,000 = 2,000
O A= (F N ol Ah) 1,400,0009) = 1,400
O=t& (=700)
—7t29¥ EAx4d 71945 350,000 = 23] = 700
OYat= (=1,400)
— 7R EAZA F79x8 350,000 * 43] = 1,400
OYd== (=1,320)
-7t 24zxA 7 A 330,0009) * 1th = 49 = 1,320
Ozt 700,0009) = 700
O+ (=700)
— 242X ZAFY AR 350,000 x 1d] * 2 = 700
iﬁ%m 5,400
O7}2REAzgd e ATy 2,400,000 = 2,400
O7t2W Z24%4 A8 Y4 750,000 * 4km = 3,000
LR 02000
55,000 |01 A]42H]
OXTFRFT HOALY 30,000,0009 = 30,000




2000 ARSIZHERH] 2400 FEIRAGARSNE 2430 A AARSINE 2432 AR 120 AAH AW 401 A HIRF O]
3 =
o Ak o Qs = 7] Y
Al A G =
i?%ﬂl%ll?—mﬂl O&7tm Fu4E HojArgv) 25,000,0009] = 25,000
ey e 2,353,651 |[% 1,790,000 = 43,000 Al 520,651 ]
ﬁ%AM 1,920,400 |[5 1,790,000 %= 43,000 A 87,400 ]
1,400 |01 L¥FL-oH]
e 1,400,0009 = 1,400
] 1,919,000 |[% 1,790,000 %= 43,000 Al 86,000 ]
1,919,000 |01 A]4w]
OR ™ AFA7 A 1,490,000,0009) = 1,490,000
[ 1,490,000 |
O2AH 7Ate] 429,000,0009) = 429,000
[< 300,000 = 43,000 A 86,000 ]
ALl 433,251
T
700 |01 LREEGH]
Odukzgn] FH2t (=700)
— A 700,0009] = 700




2000 ARS|ZHER] 2400 FEIRAI ARSI AR 2430 A GARSIURE 2432 AN 220 AAARY 206 A s
o =
e g = 7] ES
A Al A B
206
A=) 30,551

SETER
AZFYH (=1,900)

A &)
OAEH (=1,920)
~EMEAZYREETY)

~ @ SGEAAY S

13,000,000

17,000¢ = 70 ¢
1,000,000¢
3,100,000¢!
4,000,000
2,000,000 = 12
1,000,000¢

541,000

60,0009] * 20kg
7,0009) * 100¥

900,000)

4009 * 12% * 1507

50,0009 * 127)

13,000

1,190
1,000
3,100
4,000
2,000
1,000

041

1,200
700

900

720

600

- 4/6 -




2000 AFS|ZEH] 2400 FElE A AAE N 2430 A GARS| A 2432 A G 220 AAALY 206 A=W
il - o AF o At = 7] =

A8} Al Al & =

iﬁ%a} — AR E 9N 600,000 600

%1)11:1@ s 13,800

13,800 |12 7|E}RAd5+

ONEH FAEAFZA AE 4 F4H| 13,800,000%! 13,800

AEEEERE 00820

385,000 |01 A]AIH]

O&TtE FHA ALY 30,000,000 30,000
OXTFRFHUHIAIGH| 25,000,000 25,000
O&aTFEFIAL HolAI Y| 30,000,000 30,000
O&TFEFUALH ALY 25,000,000 25,000
OaTtE FRAL AAIG 25,000,000 * 12 25,000
O R 79 Ay ALy 25,000,000 25,000
OaTtE FRAL AAIG 25,000,000 25,000
O&TFR FHAE HolAL ] 25,000,000 25,000
OXTFE FHIH AL H] 25,000,000 25,000
OaTtE FRAL AJAIG ] 25,000,000 25,000
O2E FuAE HolAg ) 25,000,000 25,000




2000 ARS|ZHEM] 2400 FEVSIX QARSI N 2430 A AR 2432 A UNE 220 AAALY 401 AW SR-Tn)
* = o) 2k o A # d =
Ala A A & =
O2TtRFRYE A AL 25,000,000¢1 = 25,000
O&TE FHAL A v 25,000,000 = 25,000
O&TE FHAL A v 25,000,000 = 25,000
O&7tE FRHANI Y 25,000,000¢ = 25,000
3,200 |04 A=A A A
OUNEA FaRrZA FodA, 47144, 718 3,200,0009) = 3,200

- 6/6




